
Linear Algebra
Quiz 10

Name:

You have 10 minutes to complete this quiz. If you have a question raise your hand
and remain seated. In order to receive full credit your answer must be complete,
legible and correct. Show your work, and give adequate explanations.

1. What is the length of the complex vector v =
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?

‖v‖2 = vHv = 12 − i2 + (−1)2 − i2 = 4, so ‖v‖ = 2.

2. In the method of least squares, working over the real numbers, what are the
“normal equations” associated to the system Ax = b?

ATAx = ATb.
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